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ARCHITECTURAL ASSISTANT - )
| - (THEORY) . -
Time:3 Hours o - . Marks : 100

Note: Attempt [ IVE Questlons in all. Q No. I | 1S compulsory All questmns carry equal marks.

l.

eonstructlon‘7

' Write short-notes - ( Any four, give sketches if necessary)

(i) B Different types of loads subJected to a building .

(1)  Difference between strap-foundation and Mat-foundation. '
(iii)  Water-proofing for expansion-joints in a bunldmg
(v)  Bonds used for a Boundary-Wall,.

) Duf!c.rence betWeen aF lush-deor and Iowered-door

(i) .Dtslmgunsh between approx1mate estimate and detailed estimate?

(i)  Estimate the total cost of laying foundation for a (400x400)mm R.C.C. eolumn.'
- Sketch the design of foundation before estimating. Assume your own rates of
o -m.ttenals labour charges and anw mtssmg data before commencmg

@ . Descnbe about different types of materlals used fora partmon? _
(b) Design and sketch a brick-nogging timber partition for an 0penm0 of size

(5 m X 3 m ) with all spec1ﬁcat|ons and detalls

What do you understand by the term ‘Arch’ and ‘Lintel’? Sketch and show different
technical parts of an ‘Arch’? Describe in bnef varlous types of arches used in modern-

N\

- 1) Describe with sketehes the dlf’ferent types of Sewage-dtspcsal systems adopted

in the building which are located in isolated places and where mumcnpal
sewage system does not exist?

(i)  Whatis “Water-Seal’ 7 Enumerate dlfferent Causes of‘ breakmg water-seal of a
trap? |

leterenuate between (Any four gwe sketehes 11' neeessary)

m Prime cost and Capltal- c’os_t.-

(1)  Lecan Roof and Couple Roof
(iii)  Indian W.C and Furopean W, C _ .
(iv)-  Housing Joint and Mortice-Tennon Joint -

(V) Spiral stalrcase and etrcular stalr-ease

(@ How are ﬁles different from folders‘? What are ‘Standard—wews” and

‘ Pl“”'_]CCUODS” available i in Auto-cad?

(b) Explain 3 D-edit commands - ( Any two)
(1) lXTEND (1)) TRIM (m)COPY
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